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lö
n
z

4
+
i

=
0

ka
ik

ki
ra

tk
ai

su
t

ko
m

pl
ek

si
ta

so
ss

a.
(c

)
O

nk
o

fu
nk

ti
o
f

(z
)

=
e−

x
(c

os
y
−
i
si

n
y
),

m
is

sä
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=
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−
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ä
ju

ur
et

ja
kä
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tä

lö
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−
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=
−
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tä
f

=
u

+
iv

on
an

al
yy

tt
in

en
.

C
au

ch
y-

R
ie

m
an

ni
n

yh
tä
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kä
si

te
llä
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+
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−
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=
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öb

iu
s-

ku
va

uk
se

t: (w
−
w

1
)(
w

2
−
w

3
)

(w
−
w

3
)(
w

2
−
w

1
)

=
(z
−
z 1

)(
z 2
−
z 3

)
(z
−
z 3

)(
z 2
−
z 1

).

P
ol

ku
in

te
gr

aa
li:

∫ C

f
(z

)d
z

=
∫ b a

f
( z(t)

) z′ (t
)d
t.

C
au

ch
yn

in
te

gr
aa

lil
au

se
:

∮ C

f
(z

)d
z

=
0.

C
au

ch
yn

in
te

gr
aa

lik
aa

va
: ∮ C

f
(z

)
z
−
z 0
d
z

=
2π
if

(z
0
).

L
au

re
nt

in
sa

rj
a:

f
(z

)
=
∞ ∑ n
=

0

a
n
(z
−
z 0

)n
+
∞ ∑ n
=

1

b n
(z
−
z 0

)n
.

R
es

id
yl

au
se

:
∮ C

f
(z

)d
z

=
2π
i

k ∑ j
=

1

R
es

z
=
z
j

f
(z

).


